IEEE Access

Multidisciplinary : Rapid Review : Open Access Journal

IEEE POWER & ENERGY SOCIETY SECTION

Received 4 October 2024, accepted 18 October 2024, date of publication 23 October 2024, date of current version 4 November 2024.

Digital Object Identifier 10.1109/ACCESS.2024.3485006

== RESEARCH ARTICLE

Sizing and Life Cycle Assessment of Small-Scale
Power Backup Solutions: A Statistical Approach

ARMIN ABDOLMOHAMMADI ™, ALIREZA NEMATI -, MERIDIAN HAAS ™,
AND SHIMA NAZARI"“, (Member, IEEE)

Department of Mechanical and Aerospace Engineering, University of California at Davis, Davis, CA 95616, USA

Corresponding author: Armin Abdolmohammadi (abdolmohammadi@ucdavis.edu)

ABSTRACT The increasing frequency of natural disasters, such as floods and wildfires, necessitates
enhanced emergency management plans. Reliable backup power for critical infrastructure along evacuation
routes is urgent. Using a case study approach, this study investigated small scale power backup solutions for
a traffic light. We deployed a statistical approach to study the sizing problem for four alternative solutions:
gasoline generator, battery pack, fuel cell system, and photovoltaic (PV) panels with a battery. Leveraging
data from the State of California, we constructed probability distribution profiles to model power outage
occurrence and duration and considered two representative high and low Global Horizontal Irradiance (GHI)
locations. A Monte Carlo simulation, generating 10,000 power outage scenarios, was adopted to size the
systems and evaluate their lifetime cost and Global Warming Potential (GWP). Following this approach
allowed us to compare different systems and sizes based on the percentage of power outages that they
can support, which is superior to sizing and analysis based on a single scenario. Our results show that the
PV-battery system is the optimal choice, especially for areas with high GHI. The battery only option is a
suitable choice only for short power outage scenarios, but increasing the battery size to cover prolonged
outages will be both expensive and ungreen. Fuel cell systems, on the other hand, can be a better choice for
the longest events; however, results show that, unlike the conventional belief, cheap gasoline generators can
be comparable to fuel cell systems in terms of GWP due to the standby nature of power backup systems and
the high CO2 emissions produced during the manufacturing process for fuel cell engine and hydrogen tanks.
This study also explored additional factors for gasoline generators and fuel cells, such as PV panel shading,
refueling cost and frequency, and the sensitivity of outcomes to component cost assumptions and variations.

INDEX TERMS Cost analysis, life cycle assessment, Monte Carlo, optimal sizing, power backup.

I. INTRODUCTION

Many critical infrastructures, from hospitals and data centers
to telecommunication networks and emergency response
systems, rely on a continuous and reliable supply of power.
These vital operations necessitate uninterrupted energy or
risk significant financial losses, compromised operations,
and potential safety threats. In related applications, such as
telecommunication towers, remote monitoring and control
systems, and traffic lights, power backup solutions have been
well-researched [1], [2].

The associate editor coordinating the review of this manuscript and

approving it for publication was Elizete Maria Lourenco

A wide range of reliable power backup systems are avail-
able for consideration. Traditional solutions, such as gasoline
or diesel generators, provide robust power generation capabil-
ities but may be associated with fuel supply challenges and
emissions concerns. Photovoltaic (PV) and battery systems
have gained attention in recent years, with the ability to
harness solar energy and store it for future use. These systems
offer sustainability benefits and can be cost-effective in the
long run [3]. Additionally, emerging technologies like Proton
Exchange Membrane (PEM) hydrogen fuel cells present an
innovative backup solution by leveraging hydrogen as a clean
energy source. Given the diversity of power backup solutions
and the wide range of their price and environmental impact,

© 2024 The Authors. This work is licensed under a Creative Commons Attribution 4.0 License.

VOLUME 12, 2024

For more information, see https://creativecommons.org/licenses/by/4.0/

157149


https://orcid.org/0009-0004-2546-7640
https://orcid.org/0000-0001-6127-7108
https://orcid.org/0000-0001-8180-9132
https://orcid.org/0000-0002-1775-4664
https://orcid.org/0000-0002-7507-8203

IEEE Access

A. Abdolmohammadi et al.: Sizing and LCA of Small-Scale Power Backup Solutions: A Statistical Approach

the most suitable option is not evident and depends on various
factors.

There have been extensive studies on the sizing of renew-
able energy-based microgrids based on cost optimization.
Notably, substantial research has explored the sizing of
large, complex microgrids, often designed for remote area
communities and high power demands in island mode [4],
[51, [6], [7], [8]. Zhou et al. provide a review of the state
of the art in microgrid optimal sizing [9]. Similar sizing
problems have been solved for grid-connected PV-battery
systems [10]. Such systems generally run constantly and
are sized to provide the proposed power load for a given
system.

Backup systems, however, must be sized differently
and should rely on statistical analysis of power outage
frequency and duration. Sizing studies for backup power
generation frameworks have been performed for sizing PV
with a fixed battery size [11], backup systems with a fuel
cell and battery [12], and fuel cell and battery with an
electrolyzer PV system [13]. Dual optimization problems
have been introduced to size a backup battery and generator
with a PV system, with the goal of minimizing cost and
maintain reliability [14]. Yoo et al. independently proposed
a methodology for sizing battery energy storage systems
that is aimed at enhancing the integration of solar farms by
incorporating system marginal price patterns, also referred to
as market conditions [15].

The Life Cycle Assessment (LCA) of power gener-
ation systems has received substantial research interest.
Smith et al. conducted an LCA that compared the environ-
mental impacts of a Gasoline/PV/wind hybrid microgrid
on Koh Jig Island, Thailand, with grid extension and
home gasoline generators as alternative energy sources [16].
Mahmud et al. conducted a techno-economic operation and
environmental LCA of a solar PV-driven islanded microgrid,
focusing on the system’s feasibility and sustainability for
isolated communities [17]. It is important to note that research
on power generation systems often reveals high environmen-
tal impacts associated with fossil fuel-based systems due to
emissions during their operational “‘use” phase. However,
power backup systems, due to their standby nature, may
yield different environmental outcomes and therefore must be
studied separately. Significant research has examined large-
scale energy-generating systems. Varun et al. conducted a
review of LCA for renewable energy systems in electricity
generation. They emphasized the need to consider carbon
emissions from renewable energy systems, even though they
are generally more environmentally friendly [18]. Some stud-
ies have considered both the size and environmental impacts
of energy systems. Tsai et al., explored the effectiveness of
various hybrid renewable energy systems in island mode,
focusing on the technical and economic viability as well as
environmental impacts [19]. Jiménez-Vargas et al. introduced
anovel approach for sizing microgrids, which integrated LCA
of implementation and operation stages. Their methodology

157150

employed a multi-objective function inspired by the ReCiPe
methodology [20].

Previous research has also explored various large-scale
backup systems designed for high-demand scenarios, such
as buildings or districts. However, there is a lack of
comprehensive comparative analyses that consider multiple
system options and their cost-effectiveness as the backup
for small-scale systems. With the increasing environmental
concerns, there is a growing need to integrate life cycle
environmental impact analysis into the evaluation of backup
systems.

This research is motivated by two key factors: the need to
address the environmental impact of backup power systems
and the upcoming bans on small gas generators in California,
which are frequently used to support low-power systems [21],
[22]. Additionally, in California, the increasing threat of
power outages caused by wildfires has led to a greater
emphasis on robust backup systems. Since wildfires can be
caused by power line failures, frequent power shutdowns may
become necessary during extreme weather conditions [23].
In such events, having operational signs and signals along
evacuation routes is essential, leading to the installation of
backup power systems at critical intersections in certain areas
of California [24].

Traditionally, in the event of an extended power outage,
portable gasoline or diesel generators have to be transported
to the site of the these intersections. However, California’s
new legislation will ban the sale of new small gasoline
generators in 2028 [25]; therefore, effective alternative
backup systems must be considered to fill the gap. Recently,
some fuel cell backup systems were installed in critical
intersections such as Placerville, CA [26] and Santa Clarita,
CA [27]. These backup systems provide several days of quiet
operation, easy maintenance, and low emissions. Similarly,
PEM fuels cells have been investigated as a backup power
solution for remote cellular towers [28], [29].

A. CONTRIBUTIONS

This study investigates four backup systems, including
gasoline generator, battery pack, fuel cells, and PV panels
with battery, implemented as a microgrid at a three-way
intersection in Placerville, California, where traffic light data
were recorded. The novelty of this work lies within its
statistical approach to sizing power backup systems. While
stochastic approaches and Monte Carlo simulations have
been previously utilized to generate daily demand profiles
for battery sizing to do outage protection [30], this study
introduces a novel application by generating outage scenarios
for system sizing across multiple systems. Recognizing that
power outages occur multiple times throughout the year with
varying durations and start times, relying on a single outage
scenario for sizing may not yield the most optimal solution.
By utilizing real data to construct probability distributions
of outage duration and start time, and employing a Monte
Carlo approach, a diverse range of power outage scenarios

VOLUME 12, 2024



A. Abdolmohammadi et al.: Sizing and LCA of Small-Scale Power Backup Solutions: A Statistical Approach

IEEE Access

TABLE 1. Nomenclature section to the paper.

Variable Description Unit

I Global horizontal irradiance Wh/ m?2
Pge Gasoline generator nominal power kWp
ylele; Diesel Generator efficiency -

Tr Diesel tank size gal
SOF State of fuel -
n6G Gasoline generator efficiency -
ke Gasoline generator Consumption rate ~ Gal / kWh
Xpy PV Surface m?2

Op Battery Capacity kWh

b Battery Efficiency -
Npy PV efficiency -

Py The energy demand kWh

¢ Battery state of charge -
Prc Fuel cell nominal power kWp
nrc Fuel cell efficiency -
SOH State of hydrogen -
krc Fuel Cell consumption rate kg /kWh
my., Hydrogen Tank outlet kg

reflecting the variability and unpredictability of actual events
were generated. These scenarios were then utilized for sizing
the considered power backup systems. To the best of our
knowledge this approach towards sizing of backup systems is
novel. Furthermore, this research addresses the critical need
for an evaluation and comparison of backup power systems
tailored to small-scale users and the integration of life cycle
environmental impact analysis into the assessment of backup
power systems.

Section II describes the considered power backup systems,
the optimization methodology, data gathering and scenario
generation. Section III presents the LCA methodology, and
Section IV reviews the results of sizing and cost sensitivity
analysis.

Il. SYSTEM AND METHODOLOGY

The primary focus of this study is cost assessment of
different power backup solutions. We first describe each
system and explain the associated costs. Next, we address
the methodology used for sizing and optimization of these
systems, and finally we detail the methodological framework
for probabilistic evaluation of power outage data and the
Monte Carlo simulation approach.

We conducted a cost assessment to evaluate the financial
viability of different backup power systems by considering
several cost components. the initial purchasing cost, Cjp,
includes the cost of core components and storage units
such as fuel or hydrogen tanks. Additionally, the cost of
commissioning and installation, Cy, is also considered even
though this remains a constant value that only depends on the
considered system. Furthermore, operation and maintenance
cost, Cogm, 18 accounted for the system’s expected lifespan
of 10 years. All the equipment costs, such as pipes, valves,
and wires, are listed as equipment costs, Cq. Other costs,
such as fuel refilling and replacement cost, C,, is taken
into account. Finally, the savings, Cs, was considered for
systems that have the potential to generate excess electricity

VOLUME 12, 2024

and reduce the power intake from the grid. Annual and
future costs were converted into present values using the Net
Present Value (NPV). All values for these costs are listed and
detailed in Table 3 These cost components were included in
optimization framework to determine the optimal sizing and
cost-effectiveness of the backup power systems.

Power Grid

a) *§~ o8

Gasoline

.9,

Control unit Load

Generator

AN O4
ey
Power Grid F AN O4

y [®
b) *ﬁ Battery Pack

Power Grid

C) "ﬁ*

Control unit Load

a9 (&) 3

i
iy = !

Hydrogen H2 Fuel

Cell Control unit Load
. L o4
Power Grid AO4
. ol o N

Yy ':9:' $ - 4

d) 444 v
PV Panel Battery Pack Control unit Load

FIGURE 1. System schematics showing the main components of each
backup system, the flow of fuel, hydrogen, electricity and demand for:
(a) gasoline generator, (b) battery pack, (c) fuel cell, and (d) PV panels
and battery.

A. POWER BACKUP SYSTEMS

1) GASOLINE GENERATOR

Gasoline generators are commonly used for backup power
during outages due to their low cost. They offer portability
and simple installation, making them suitable for temporary
power needs. Nevertheless, they have significant operating
costs (refueling and maintenance) and cause noise pollution.
The negative environmental impact of these systems comes
from tail pipe emissions, which are an additional concern
that has caused some areas, such as California, to ban these
systems in near future. In our cost assessment, the cost
of a gasoline generator involves factors such as the initial
purchase cost, the cost of an external gasoline tank per gallon,
fuel cost, and equipment expenses that includes items such as
pipes, valves, and cables.

2) BATTERY STORAGE SYSTEM

Battery backup systems are gaining popularity due to their
zero emissions during the use phase and minimal mainte-
nance requirements. These systems can be charged through
the power grid, and operate silently. The costs consists of
the initial cost of the battery cell and equipment, which
includes an inverter and control system. Annual operation and

157151



IEEE Access

A. Abdolmohammadi et al.: Sizing and LCA of Small-Scale Power Backup Solutions: A Statistical Approach

maintenance costs includes regular maintenance and potential
repairs. Replacement cost for the battery cells are included
in the analysis to account for battery degradation equal to
80% of total capacity at the end of lifespan. In this study,
we considered new batteries will be used for the purposes of
power backup. However, acquiring used batteries, that will
be available in the future due to the growing electric vehicle
market, can substantially reduce costs.

3) PHOTOVOLTAIC WITH BATTERY PACK (PV-B)

The PV-battery system generates and stores electricity. This
system is eco-friendly as it has zero emissions during
operation. The cost breakdown for this system includes an
initial purchasing cost for solar panels, batteries, installation,
and commissioning costs. Battery replacement costs are con-
sidered due to battery degradation as previously explained.
Equipment costs cover components, such as branch connec-
tors, charger controllers, and DC/DC converters, ensuring a
precise cost assessment.

This system can operate independently or in conjunction
with the central grid, reducing energy costs. Surplus energy
can be transmitted to the grid, promoting sustainable energy
practices through net metering or feed-in tariffs. In California,
the Net Energy Metering (NEM) 2.0 program [31], assumed
in this study, allows solar panel owners to earn credits for
excess electricity that they generate. The energy trade ratio is
one to one under NEM 2.0 program, meaning that for every
1 kWh energy sent to the grid, the panel owner can use 1 kWh
of energy from the grid at a later time. The compensation
rate for surplus energy at the end of the contract year is
typically lower than the retail rate [32]. The electricity costs
of $0.34 per kWh and a $0.031 per kWh surplus energy
selling rate [32] is considered in this study.

To determine the optimal sizing for photovoltaic panels in
their various configurations, solar radiation data is employed.
The data from the National Solar Radiation Database [33]
gives the Global Horizontal Irradiance (GHI), 7, for every
30 minutes. To account for variations in solar irradiance,
we selected two representative locations with different Global
Horizontal Irradiance (GHI) levels. The high GHI location is
a traffic light at the intersection of Industrial Dr and Missouri
Flat Rd in Placerville, CA (38.69, —120.82), which currently
utilizes a hydrogen fuel cell, allowing us to conduct tests to
get power demand information. Placerville has an average
GHI of 5.35 kWh/day/m2. For the low GHI location, we chose
a site in San Francisco, CA (37.77, -122.46), which has an
average GHI of 4.15 kWh/day/m?. This selection enabled us
to capture the effect of different GHI levels on the system
sizing.

In California, some power outages are intentionally
implemented to reduce wildfire risks [22], making the
deployment of backup power systems in national parks and
other wooded areas increasingly necessary. To evaluate the
feasibility of using PV systems in these shaded environments,
we conducted a shading study to assess the impact on PV

157152

1200

T T T T T T
—— GHI High Radiation Area [Placerville]
—— GHI Low Radiation Area [San Francisco]

1000 -

800 -

600

GHI [W/m?]

400

200

0
JAN FEB MAR APR MAY JUN JUL AUG SEP OCT NOV DEC JAN

FIGURE 2. Global horizontal irradiance (GHI) data for two location of
high and low radiation in California for the year 2021 [33].

panel performance. We introduced the shading ratio (SR),
which quantifies the ratio of GHI in shaded versus unshaded
conditions. This analysis helped us understand how shading
affects the optimal sizing of PV-battery systems in such areas.

To account for the impact of shading on PV panel
performance, various shading scenarios were considered.
The shading ratios (SR) of 25%, 50%, and 75% were
used to simulate different levels of shading that PV panels
might encounter due to obstacles such as buildings, trees,
or temporary obstructions. The shading ratio (SR) represents
the percentage of the GHI not available to the PV panel.
This assumption is sufficient for our research as a more
comprehensive approach necessitates including factors like
the type of panel, cell arrangement, part of the panel covered,
and the surface area of the shade, which are beyond the
scope of this study. Previous research used LiDAR to assess
tree-induced shading in urban areas, finding that trees can
reduce direct radiation by 23% to 74%, with a 38% average
reduction in total solar radiation received by residential
rooftops [34]. The smoke generated by wildfires is another
factor that diminishes the radiation reaching PV panels,
consequently reducing their power output, as discussed in a
study on radiation reduction and power drop in PV arrays by
A.J. Ali et al. [35].

4) HYDROGEN FUEL CELL SYSTEM (FC)

This system consists of a PEM fuel cell engine, hydrogen
storage tanks, and various supporting parts. Although hydro-
gen fuel cells might be considered more environmentally
friendly due to zero use phase emissions, they come with a
relatively high initial cost compared to other backup systems.
To calculate the cost of this system, we considered the initial
purchase cost of the PEM engine and the hydrogen tanks
which depends on system size and capacity. Installation costs
for the hydrogen storage tank and hydrogen refilling expenses
are also considered. The auxiliary equipment costs, such
as piping, valves, and electrical components, are part of
the equipment cost. Additionally, we included the operation
and maintenance cost over the system’s lifetime, covering
periodic maintenance and repairs. Replacement costs were
not considered for the fuel cell since we assumed a lifetime of

VOLUME 12, 2024



A. Abdolmohammadi et al.: Sizing and LCA of Small-Scale Power Backup Solutions: A Statistical Approach

IEEE Access

10 years for the PEM engines. Table 3 in Appendix provides
the list of all considered costs for studied systems.

B. THE OPTIMAL SIZING PROBLEM

To find the optimal size for components of power backup
systems, an optimization problem was formulated for each
case. Decision variables include PV panels, batteries, fuel
cells, generators and fuel storage size. To avoid repetition,
the optimization problem for only one of the systems is
provided: the PV-battery system with two decision variables.
The results of the optimization problem provide the optimal
size and quantity of components for each considered power
outage event.

Photovoltaic with Battery P(PV-B): In the PV-battery
system, the main goal is to minimize the total system
cost, denoted as Cyyq. This cost includes the cost of main
components, Cp, and Cp, multiplied by their system sizes,
Xpy and Qp. The cost function also include equipment costs,
C.y, and installation fees, Cj, as well as ongoing annual
expenditures, including operation and maintenance, Cog,
and savings linked to electricity production based on NEM
2.0, Cs, which must be evaluated in terms of present value.
The values used are listed in Table 3.

Minimize : Cryat = CpQp + CpvXpy + Ceq + C1
(I +r)' =1

C —Cs)————— 1
+ (Cosm — Cs) L) ey
subject to : 0 < Xpy < Xypax (2a)
0p=0 (2b)
=1 (20)
Smin < €() < Gmax 1=2,3,...,N (2d)
DAT
) = ¢ — 1)+ OB o
O
i=2,3,...,N (2e)
() = ppy(i) —pa(i) i=2,3,....N (2f)
Ppu(i) = ppuli) i=2.3,...,N 2g)

Ppy(i) = nppXpuIp(i) i=2,3,...,N (2h)

Equation (2a) limits the size of the PV panels to be
non-negative and smaller than a max value. This value is
determined by the factors such as roof size and in this study it
is set to 10 m?. The inequality (2b) imposes a non negative
battery capacity. Equation (2c) and inequality (2d) ensure
that the initial state of energy is at 100% and it will stay
within the boundary of 20% to 100% at all times. The equality
constraint (2e) implements the state of energy dynamics for
the battery in which pp(i) is the battery power at step i and
np is the battery electro-chemical efficiency assumed to be
95%. AT is the step time discretization equal to 30 min in
this study. The problem horizon, N, depends on the power
outage duration. The equality (2f) imposes the conservation

VOLUME 12, 2024

of energy in the system in which p,, is the energy produced
in the PV panels and py is the power demand. Inequality (2g)
restricts the PV produced power to the maximum value
possible to produce in the panels, Py, that is determined by
the GHI value at each time step, 1;(7), the size of the panels,
Xy, and the panel efficiency, 1,, computed in Equation (2h).

The net present value of future costs in (1) is calculated
according to the method presented in [36]. For the corre-
sponding annual costs, the total cost over the lifetime P, r
will be

n

Cn
Por =Y oy 3)

i=1

where C,, is the total cost in year n, and ry is the real discount
rate that is adjusted to eliminate the effect of expected
inflation. We assumed a constant annual cost for the system
over its lifetime similar to [37]. Additionally, we distribute the
refueling and refilling cost evenly over the system’s lifetime.
With these assumptions, the present value over 10 years will
be

(I+ra)" =1
Pyt = Copg—l 4
v,T avg rd(l +l"d)n ( )

in which C, is the average annual cost, which includes oper-
ation and maintenance cost as well as average replacement
cost.

C. POWER OUTAGE PROBABILITY

The core of this study lies within the statistical approach
deployed for sizing all the considered backup systems across
a multitude of power outage scenarios. The Monte Carlo
methodology enabled us to obtain a more optimal system
size estimation based on the desired percentage of covered
outages. Each power outage scenario is characterized by two
parameters: outage duration and the start date and time.

For the start date and time of power outages, we used data
from Bloomenergy [38], which sourced a power outage map
for California. This data included blackout periods, times,
locations, and the number of impacted customers, allowing
us to generate probability distributions for specific months.
For power outage duration, is derived from PG&E electric
reliability report [39], which details major event days, outage
duration’s, affected customers, and restoration times. The
data revealed a spectrum of outage duration, ranging from
short disruptions of a few hours to more prolonged outages
extending up to 96 hours. The distribution of these power
outages in terms of month of the year and duration is shown
in Figure 3.

The Monte Carlo simulation used in this study was
designed to generate realistic power outage scenarios based
on historical data and probabilistic modeling. The following
are the specific parameters and assumptions used in the
simulation:

157153



IEEE Access

A. Abdolmohammadi et al.: Sizing and LCA of Small-Scale Power Backup Solutions: A Statistical Approach

Dec ‘ 72-96h |

Nov 48-72h |

o 24 -48 h

Sep . -

Aug 20-24h l

Jaly 15-20h W
June

May 10-15h W

Apr 5-10h 1N

Mar

1-5h I

Feb

lan ] 0-1h [N

0% 5% 10% 15% 0% 20% 40%

(a) (b)

FIGURE 3. California power outage data for (a) Likelihood for each
month [38] and (b) Events duration likelihood for major power outage
events in California year 2021 [39].

o Power Outage Duration: Assumed to follow a proba-
bility distribution based on historical outage data from
major events in California in 2021.

« Start Time of Power Outage: Assumed to occur at any
time throughout the year, with probabilities associated
with different months and times of day.

o Solar Radiation Data (GHI): Utilized GHI data from the
National Solar Radiation Database, varying by location
and time of year. GHI data for specific time spans
were captured based on the start time and duration of
generated power outages.

o Power Demand: The pattern of the power demand is
known. In this study the power demand is assumed to
be constant

These distributions and assumptions were used to generate
10,000 power outage scenarios. The process involved select-
ing starting points based on the probability of power outages
occurring in each month, as in Figure 3a, and in the next step
we determine the outage duration based on the probability
distribution in Figure 3b.

To ensure the robustness and reliability of the 10,000
power outage scenarios generated, we employed several
validation methods. Empirical CDFs for start time and
duration were used to make a comparison between generated
scenarios and historic data. Statistical validation using the
Kolmogorov-Smirnov (K-S) and Mann-Whitney U tests were
also employed that showed high p-values (h = 0, p > 0.74 for
start time and h = 0, p > 0.98 for duration; h = 0, p
> 0.76 for both tests), indicating no significant differences
between historical and generated data.

Ill. LIFE CYCLE ASSESSMENT (LCA)

In addition to optimal sizing, another objective of this
study was to assess the Greenhouse Gas (GHG) emissions
associated with the backup systems and report the total GWP
for each system. The life cycle assessment methodology

157154

was employed to evaluate the environmental impacts of the
systems throughout their entire life cycle. The methodology
of this LCA study follows the four distinct phases outlined
in ISO 14040:2006 [40]. The first phase is the goal
and scope definition, during which the objective of the
study is established.The scope of this paper was to carry
out a comparative LCA for the four systems mentioned
in terms of the equivalent carbon emission. The second
phase is the inventory analysis, which involves defining
the system boundary for the LCA study. This process
includes identifying and quantifying the inputs and outputs
associated with the backup system’s life cycle which is
shown in Figure 4 and discussed later on in this section.
The system boundary includes processes such as raw material
extraction and processing, manufacturing of system compo-
nents, and modeling the use phase to account for related
impacts.

The third phase is the impact assessment, where the
environmental impacts are evaluated. In this study, the
Tools for the Reduction and Assessment of Chemical and
Other Environmental Impacts TRACI 2.1 [41] method was
employed to assess the impacts. This method provides
characterization factors for GHGs in terms of their equivalent
carbon dioxide (CO2eq) emissions. It adopts a midpoint
approach, which assesses the impacts earlier in the cause-
effect chain.

The last phase aims to quantify and evaluate the
environmental impacts of the backup systems, focusing
specifically on their GHG emissions. Table 4 provides a
comprehensive listing of the input flow quantities and proxy
datasets utilized in this study, emphasizing the importance of
reproducibility.

Given that a comparative analysis was conducted, trans-
portation of the components was excluded with the exception
of transporting required fuel to the site with a given pick
up and drop off site to include the traveled distance.
During the use phase, only the combustion of the gasoline
generator and water usage for PV panel cleaning were
taken into account. For the system’s structure and housing,
an aluminum cabinet was uniformly considered across all
systems/scenarios. The electricity input was obtained from
the 2021 California grid data set. The impacts from California
grid electricity are reallocated based on the electricity
produced by the PV panels, enabling a more accurate
assessment of the systems’ environmental performance.
Installation processes, except for the PV plant installation,
have not been considered due to a lack of data availability.
Similarly, the end-of-life of the systems has been excluded
from the analysis due to the diverse disposal options and
associated assumptions, which could introduce additional
uncertainties in the study. The data for this study were
sourced from the Ecoinvent 3.6 database [42]. Transportation
aspects were considered solely for transferring fuel to
the system from a nearby distribution center. To estimate
transportation distances, Google Maps data were used. For

VOLUME 12, 2024



A. Abdolmohammadi et al.: Sizing and LCA of Small-Scale Power Backup Solutions: A Statistical Approach

IEEE Access

Energy Materials

Energy Materials Energy Materials

Fuel
Production

Diesel Generator
Production Energy

Diesel Tank
Production

I

Raw Material
extraction and
material
processing

Transportation

Installation and Use
Phase

Emissions Materials Emissions Materials lE missions
(a)
Energy Materials
Energy Materials
Energy Materials Water
PV Panel Production
Raw Material PV Panel Mounting
extraction and Production Installation and Use
material Phase
processing Battery Production
Electronic
Equipment
. N Production L
Emissions Materials Emissions Water
Emissions l Materials
Energy Materials Materials
. Energy Water
Energy Materials
PEM production
Production

Raw Material
extraction and
material

Transportation

t H2 Tank Production ’ Energy

processing Electronic Installation and Use
Fauipment
Production
Emissions  Materials Emissioni Materials Emissionsl Water
(c)

FIGURE 4. System boundary for LCA for systems: (a) gasoline generator,
(b) photovoltaic and battery system, and (c) hydrogen fuel cell.

the analysis of resource extraction processes, aggregated data
were utilized to assess their impacts on a single unit system
(see Table 4).

Figure 4 provides an insight into the system boundaries
adopted for the LCA study of our backup power systems.
We present three systems out of the four, as they exhibit
similarities, thus avoiding redundancy. Given the absence
of specific data for a gasoline generator in the Ecoinvent
database, we opted to use the data for a diesel generator
as a suitable proxy. Figure 4a shows the system boundary
for the diesel generator system, initiating with the extraction
and processing of raw materials. This process is succeeded
by the production of the generator itself and the requisite
fuel. The last stage emphasizes the usage phase with a
specific emphasis on the emissions arising from these
activities.

Figure 4b illustrates the system boundary of a PV-battery
system beginning with raw material extraction, the produc-
tion of PV panels and batteries, and the manufacturing of
ancillary electronic components. Here, we emphasize the
installation and usage phase, corresponding only to emissions
and water usage. Figure 4c, presents the system boundary

VOLUME 12, 2024

of a hydrogen fuel cell system opting a proton exchange
membrane and hydrogen storage (H2 tank production). The
stages of the flow of this system will be the material extraction
and processing, production of the parts and the energy and
transportation in the use phase.

IV. RESULTS AND DISCUSSION

We have performed the optimal size of power backup
systems explained in Section II-B for a traffic light
with a 300W constant electric demand located in Plac-
erville, California. Ten thousand power outage scenarios
for two different locations of high and low radiation
were generated as explained in Section II-A3. The method
of generating power outage scenarios is explained in
Section II-C.

The optimal size for each backup power system is first
determined by solving an optimization problem, where the
total cost of the system is minimized subject to constraints
related to energy flow dynamics and variable limits. This
process, as explained in detail in Section II-B, ensures that
the system can effectively supply power during the generated
power outages. Then in a secondary step, we simulated each
of the sized systems for all of the power outage scenarios to
determine the number of outages that this sized system can
successfully support. The results were then sorted based on
the covered power outage events.

The primary metrics used for comparing backup solutions
are first the coverage percentage explained above. The initial
cost and the total cost over the system’s expected operational
lifetime (10 years) are the other metrics. finally we will look
at the GWP of each of the systems comparing the emissions
of the power backup systems.

The benchmark to find optimal size thresholds for each
system are the coverage of 90% and 99% of power outage
scenarios. These thresholds were chosen to balance system
reliability and cost-effectiveness. Figure 5 shows the corre-
sponding life time cost of backup systems. In section II-B
it was explained that the initial state of the fuel (gasoline,
hydrogen) or state of charge of the battery is assumed to
be 100%. For each system’s cost analysis we assumed a
100 hour annual power outage to account for the cost of the
fuel throughout one year.

The cost and GWP for these systems are shown in Figure 6
and the system size is reported in Table 2. Figure 6a compares
the initial cost and life time cost of the systems that cover
90% and 99% of the simulated power outage scenarios
while Figure 6b shows the initial and lifetime GWP for
the same cases. The initial cost mentioned is the original
cost required for the purchase, install and starting up the
system. The life of all systems in this study is assumed to
be 10 years. Figure 5 shows the cost of PV-battery system
with different levels of shading, and Figure 8 showcase
the lifetime total GWP of each system. In the following
sections we analyze and discuss these findings in more
detail.

157155



IEEE Access

A. Abdolmohammadi et al.: Sizing and LCA of Small-Scale Power Backup Solutions: A Statistical Approach

TABLE 2. The final results of the optimization for sizing of all of the systems including gasoline generator, battery, PV-battery for two different locations
(high GHI regon: Placerville CA and low GHI region: San Francisco CA) and fuel cell.

System Coverage Components Size Initial Total Initial GWP  Total GWP
[%] Cost[$]  Cost [$] [kg CO2eq] [kg CO2eq]
Gasoline 90% 1 kWp Gasoline 5 Gallon Tank 2923 6496 5.53E+03 5.91E+03
Generator Generator
99% 1 kWp Gasoline 10 Gallon Tank 3047 6619 5.58E+03 5.97E+03
Generator
Battery 90% 19 kWh Battery 9985 16344 6.14E+03 6.45E+03
Capacity
99% 36 kWh Battery 17635 27521 7.01E+03 7.49E+03
Capacity
PV-battery
Hioh GHI Reion 90% 4.3 kWh Battery 7.5 m? PV Panel 8181 5355 1.14E+04 1.08E+03
& g Capacity
99% 5.3 kWh Battery 7.5 m? PV Panel 8666 5840 1.15E+04 1.13E+03
Capacity
Low GHI Region 90% 4.6 kWh Battery 9.6 m? PV Panel 8817 6955 1.31E+04 2.97E+03
g Capacity
99% 6 kWh Battery 9.6 m? PV Panel 9457 7595 1.32E+04 3.05E+03
Capacity
Fuel cell 90% 500 Wp Memberane 2 H2 Tanks 10050 15594 5.84E+03 6.01E+03
99% 500 Wp Memberane 3 H2 Tanks 10550 16094 6.19E+03 6.36E+03
| ey ———— ' this choice. When we consider the total cost over the system’s
24 |—Fuel Cell —PVB High GHI Area lifetime, accounting for 100 hours of annual power outages,
i — PuE LW QL] fine it totals around $7,000. The duration of annual power outages
2 16¢ . ; has minimal impact on the total cost because its primary
& E ol o' influence is on the annual gasoline consumption, which has
3 g &7 .. e . .
2 1ol ¥ g limited cost significance. Figure 6a shows that opting for 99%
g sl gl g:L coverage is a wise choice for gasoline generators, particularly
o o g S in scenarios with prolonged power outages.
g 6 '_J—’ _______ - : : Figure 5 shows that, in the case of battery backup systems,
-—— T 1 . . oo H
! ! costs rise significantly as coverage percentages increase. For
4 [ : example, a 1 kWh battery can cover up to 35% of power

30 40 50 60 70 80 90 100
Power Outage Coverage [%]

FIGURE 5. Total cost of the systems (life time cost) versus coverage for all
the systems, gasoline generator, fuel cell, battery, PV and battery, for two
different locations of high and low GHI (Placerville, CA and San Francisco,
CA).

A. COST ANALYSIS

Here we explained the cost analysis in detail. All of the results
are summarized in Table 2. The gasoline generator system
stands out with its relatively low initial cost, approximately
$3,000, making it an economically attractive option. There
is a clear relationship between the gas tank size and the
percentage of power outage coverage, which make this
system easy to upgrade for prolonged outages with a low
cost. Notably, the cost of gasoline is relatively low compared
to the overall expenses, underlining the cost-effectiveness of

157156

outage events, while a 15 kWh battery is necessary to address
80% of outages. Achieving 90% coverage mandates a 19 kWh
battery, incurring an expense of $16,500. However, to achieve
99% coverage, a 36 kWh battery is required, leading to a
higher cost of $27,500. It is worth noting that the total cost
increases substantially due to the larger battery capacities
needed for extended outage coverage, making this system
relatively expensive for prolonged power outages.

Shifting the focus to the PV-battery system, where cost
variations are linked to different GHI level regions.The
optimization process for sizing PV-battery systems in high
GHI areas suggests smaller panel sizes, resulting in lower
initial costs. Unlike other systems that only function as
backups during outages, PV panels operate year-round, gen-
erating electricity continuously. This continuous operation
allows the PV panels to generate electricity throughout
the year, which can be sold back to the grid, providing
additional financial benefits. In high GHI scenarios, looking

VOLUME 12, 2024



A. Abdolmohammadi et al.: Sizing and LCA of Small-Scale Power Backup Solutions: A Statistical Approach

IEEE Access

30
\ Initial Cost 90%
— %5\ Total Cost 90% M
a
g o |nitial Cost 99%
o 20
£ = Total Cost 99%
3
_§ 15 “
E N
3 N
§ 10 N N
N NEN Q N
) X A NS
5 | Y N | IR N
N I N N N N
N NR NN N
N | BN \ \ N
PN NN N\NN NN NN
Gasoline Generator Battery Fuel Cell PVB High GHI PVB Low GHI
(a)
1.4E+04
N\ Initial GWP 90% N
1.2E404 N
™ Total GWP 90% N S
— LOEO4  winitial GWP 99% § S
& 80E+03  ®Total GWP 99% N S
g \ \
X N
2 6o0m03 N Q g N
& 40403 N3 $ S i %
NEN N N N Nisy
206403 N N N N N I
YN NN AN
0.0E+00 s . S BN
Gasoline Battery Fuel Cell PVB High GHI PVB Low GHI
Generator

(b)

FIGURE 6. Optimal sizing and LCA results for systems that can cover 90%
and 99% of power outages (a) initial and lifetime cost and (b) initial and
lifetime global warming potential.

at 90% coverage, the configuration includes 7.5 m> of PV
panels and a 4.3 kWh battery which costs $5,500 over the
lifetime, while in low GHI scenarios, it comprises 9.6 m?
of PV panels and a 4.6 kWh battery which costs $7,000.
When aiming for 99% coverage, the system features the
same PV panel size but integrates a 5.3 kWh and 6 kWh
battery with the cost of $5,900 and $7,600 for high and
low GHI scenario respectively. Note that life long cost of
this system is lower than the initial cost. This abnormal
case arises from the electricity generated by the PV array
throughout its lifespan, effectively eliminating the need to
purchase electricity from the grid. The PV panel size in the
optimization solution is determined by the point at which the
generated electricity, based on the GHI, is sufficient to cover
both the system’s costs through sending back electricity to
the grid and also covering the energy needs.Furthermore, the
disparity between the cost of electricity purchased from the
grid compared to the sell back price based on NEM 2.0 [31]
will determine the maximum size of the PV panel. Figure 5
illustrates the differences between high and low radiation
scenarios, with higher costs associated with low radiation
regions due to the larger PV panels. The lifetime cost of the
PV-battery system emerges as relatively lower than battery
and fuel cell systems, especially in high radiation regions,

VOLUME 12, 2024

thanks to surplus electricity generation and the sell back
to the grid.

Focusing on the effect of shading with different SR
levels, as the SR value increases, the effective irradiance
decreases, necessitating larger PV panel areas to generate
the same amount of energy. For example, with an SR of
75%, the system might require a significantly larger PV
array compared to a scenario with no shading to meet the
same energy demand. This increased size of the PV array
leads to higher initial costs due to the need for additional
panels and associated infrastructure, which is reflected in the
overall cost analysis of the PV-battery system. our results in
Figure 7 show that, a 25% shading ratio cause an increase
of up to 50% in total cost due to increase in the PV
panel size to 9.5 m?. This size remains consistent across
various coverage percentages. However, with higher shading
ratios, the PV panel size starts to fluctuate depending on the
scenario, duration, and total GHI. Note that our optimization
results for shaded scenarios show that for covering a small
percentage of power outages up to 45%, it is not economical
to deploy PV panels and the PV-battery system transitions
into a battery-only configuration due to insufficient radiation
and high cost of PV panels. As we progress to higher outage
coverage percentages, the two lines representing SR = 50%
and SR = 75% diverge, highlighting the key role of solar
radiation on cost-effectiveness of PV-battery power backup
systems.

Focusing on the fuel cell system, the result presented in
Figure 5 shows the capability of a single hydrogen tank to
cover 85% of power outages. Notably, two tanks supply a
higher coverage threshold of 97%, while three tanks ensure
a robust 99% coverage. The lifetime cost analysis highlights
that fuel cell systems exceed initial costs, mainly due to the
substantial expenses associated with refueling and hydrogen
utilization during outages over the system’s operational span.
We considered hydrogen tanks with a capacity of 60L and
a pressure rating of 300 bar, capable of holding 1 kg of
hydrogen. The refueling cost is set equivalent to hydrogen
needed for 100 hours of power outage per year. A more
comprehensive analysis of the results, focusing on refueling
frequency and associated costs for various annual power
outage scenarios, is presented in Section I'V-C. Furthermore,
this analysis indicates that for a 99% coverage, three tanks
suffice with a total system cost of $16,000. Alternatively, for
90% coverage, two tanks are similarly sufficient, with a total
cost of $15,500. For detailed information about the assumed
cost please refer to Table 3.

Comparing studied systems in terms of cost, both fuel cell
and battery only system are substantially more expensive
compared to gasoline generators. for prolonged outages, the
fuel cell system is better choice in terms of cost comparing
to batteries and it is also also supported by the study from
Rodriguez et al. [43]. The study by Wang et al. also highlights
that batteries are not ideal for prolonged outages at cellular
base stations due to their limited capacity and accelerated

157157



IEEE Access

A. Abdolmohammadi et al.: Sizing and LCA of Small-Scale Power Backup Solutions: A Statistical Approach

degradation during deep discharges [44]. PV-battery system
on the other hand, especially if installed in high GHI areas
can be more cost effective over their life time. The lower
accessibility of hydrogen fuel and relatively high refueling
cost impacts the life time cost of these systems significantly,
nevertheless, this analysis will change as hydrogen becomes
more accessible in future. Furthermore, it is predicted that the
cost of both batteries, hydrogen fuel and fuel cell systems will
decrease in future. These changes will make these systems
more competitive in upcoming years in terms of lifetime
cost [45].

54 E ——PVB SR=0% j j ’ i
50 £ |—PVB SR=26% i
18 | |— PVB SR=50% :
=16F|  PVBSR=75% E
@14t 3
o 12F .
c
@

wwow

Total Cost [Thou
=2 )
\

50 60 70 80 90 100
Power Outage Coverage [%]

FIGURE 7. Total cost (lifetime cost) of the PV-battery system subject to
different shading ratios of 25%, 50% and 75% (high radiation area).

8E+03 T
——Diesel Generator ——Battery X !
——Fuel Cell —PVB High GHI Area 1 f
7E+03 | —--PVB Low GHI Area | i
1
T 6E+03 | [

—r
N ———— 1 1
8 1 1
o SE+03 8, o
X g §!
o 3! 3!
+ - Qy O
% 4E+03 g g
¢_ﬂ o] o]
S 3E+03 L 4
[ 1 1
1 1
2E+03 - : b
1 1
1E+03 | : 1
L 1 1 1 1 1 1
30 40 50 60 70 80 90 100

Power Outage Coverage [%]

FIGURE 8. Total GWP of the systems (impacts of the production,
installation, use phase for 10 years of life time) per coverage for all the
systems, gasoline generator, fuel cell, battery, PV and battery for two
different locations of high and low radiation (Placerville, CA and San
Francisco, CA) using Ecoinvent 3.6 LCl Data Set [42] and TRACI 2.1 [41].

B. ENVIRONMENTAL IMPACT ANALYSIS

Figure 6b compares the initial and lifetime environmental
impacts of the studied systems capable of covering 90% and
99% of the power outages, and Figure 8 illustrates the total
GWP of each system relative to their power outage coverage.
The gasoline generator exhibits a relatively low GWP when

157158

compared to many other alternatives. It is important to note
that, as power outage coverage expands, any changes in
the environmental impact are minimal primarily due to the
consistent generator technology with varying tank sizes that
have relatively low impacts. A closer examination of the
total GWP reveals a slight increase from 5500 kg CO2eq to
6000 kg CO2eq, primarily attributed to gasoline consumption
during outages over the 10-year operational span. These
findings highlight that backup gasoline generators, which
are mainly idle throughout their lifespan, have relatively
comparative environmental impacts due to very low annual
fuel consumption requirements.

The results for the battery system show a rise in the
environmental impact as the battery size increases, mainly
attributed to battery production. GWP numbers provided
in Table 2 also confirms that the battery system increases
from 6500 kg Co2eq to 7500 kg Co2eq for total GWP
with an increase in battery size, from 19 kWh to 36 kWh
capacity.

Moving on to PV-battery system, the results presented
in Figure 6b reveal that the initial GWP of the PV-battery
system is the highest among all the systems especially
in regions with lower solar radiation due to the solar
panel requirements. It resulted in an initial GWP of about
13,000 kg CO2eq, compared to 11,000 kg CO2eq in high
radiation areas. Nevertheless the environmental impact of
PV-battery systems shows a significant reduction, dropping
lower than other alternative systems. This drop is attributed
to the continuous electricity generation of the PV-Battery
systems and their potential to transfer the surplus electricity
back to the grid. When accounting for the reallocation
of electricity from the grid, the total GWP drops to
approximately 10,300 kg CO2eq for high radiation locations
and 10,100 kg CO2eq for the low radiation region. The
power generation ability positions PV-battery systems as an
environmentally friendly choice, especially in high-radiation
regions.

As shown in Figure 6, when considering 90% coverage,
the PV-battery system exhibits the lowest environmental
impact followed by the fuel cell system and the gasoline
generator. This trend remains relatively consistent for 99%
coverage, with only minor fluctuations. Gasoline generators
and hydrogen fuel cells exhibit similar emissions trends
due to their standby operation. Both systems required
additional equipment like aluminum cabinets and steel
tanks, leading to comparable initial emissions. While the
fuel cell system produces no direct operational emissions,
the production of hydrogen does contribute to its overall
emissions. In contrast, the gasoline generator’s operational
phase includes emissions from gasoline production and
combustion. Despite these differences, the total GWP for
both systems is relatively close, with the gasoline gener-
ator having slightly lower overall emissions than the fuel
cell system when considering both initial and operational
phases

VOLUME 12, 2024



A. Abdolmohammadi et al.: Sizing and LCA of Small-Scale Power Backup Solutions: A Statistical Approach

IEEE Access

The environmental impact of the fuel cell system increases
as additional tanks are required, whereas the impact of
the gasoline generator remains relatively stable despite the
utilization of a larger tank. This shift is attributed to the
high GWP of hydrogen tank production. In contrast, the
battery system’s impact escalates significantly due to the
necessity of a larger battery size for higher coverage rates.
Consequently, for prolonged outages, due to the high battery
impact, using a fuel cell system can be more environmentally
friendly. For short outages, however, batteries are a viable
choice.

C. THE IMPACT OF REFUELING AND YEARLY POWER
OUTAGE HOURS

As mentioned, the transportation of fuel to the power
backup system site can influence the life time cost and
the optimal size of storage. In this section we take a
closer look into the impact of refueling frequency on
fuel storage requirements.The approach for accounting for
refueling costs and frequencies for gasoline generators and
fuel cells involves integrating additional parameters including
the number of refueling events N, and the refueling ratio R,.
N, represents the number of refueling attempts made within
a year, particularly relevant for backup systems located in
remote areas with difficult access for refueling. This value is
determined by factors such as the cumulative annual outage
duration, the rate of power consumption, and the size of
the fuel storage unit. R, represents the cost of a refueling
event relative to the cost of the storage unit. A higher R,
suggests more expensive refueling events, incentivizing the
installation of larger storage tanks.

We considered a range of total annual power outage
durations from 100 to 500 hours per year, leading to varying
annual fuel utilization and associated costs. For hydrogen
and gasoline tank costs and refueling ratios, the storage
unit cost for gasoline was assumed to be $20 per gallon,
normalized to a 10-gallon tank costing $200, based on the
average market price at the time of this research. Refueling
costs for gasoline generators ranged from $16 to $80 per
refueling event, based on transportation costs provided by
suppliers. This price range, combined with the fuel tank cost
of $20 per gallon, corresponds to refueling ratio R, values
of 0.8 to 4. For hydrogen fuel systems, a tank cost of $500
per tank was assumed. Due to the less widespread use of
hydrogen fuel, refueling costs were assumed to range from
$50 to $400 per refueling event. This price range, combined
with the hydrogen tank cost of $500 per tank, corresponds
to R, values of 0.1 to 0.8. All cost assumptions are based
on available market data and supplier information at the
time of the research. By integrating these parameters into
the optimization framework, the optimized parameter for the
number of refueling events N, is determined and presented in
Figure 9.

VOLUME 12, 2024

Analyzing Figure 9a, we observe that for R, values up
to 4, the recommended gasoline tank size for covering
100 hours of annual power outage (as assumed in the previous
sections) is 10 gallons. However, as the outage duration
increases to 500 hours, the recommended tank size also
increases, reaching up to 40 gallons. This is notably four
times the size recommended by the optimizer in Table 2,
which suggests 5 gallons for 90% coverage and 10 gallons for
99% coverage.

Number of H2 Tanks
Tank Size [Gallon]

100 200 300 400 500 100 200 300 400 500
Annual Power Outage [h] Annual Power Outage [h]

(a) (b)

FIGURE 9. Fuel storage size versus annual power outage duration for
different refuelling ratio of (a) gasoline generator system and (b) fuel cell
system.

w
o

w
o

- Max

N
o

75%

E Base Cost
1 25%
o

Total Cost [Thousand USD]
o S

]
-~ Min
101 — -
5l E
—
Gasoline Generator Battery Fuel Cell PV Battery

FIGURE 10. Comparative cost sensitivity analysis among different backup
power systems capable of covering 90% of power outages. The cost of
major system components are varied from 50% to 200% of assumed
baseline cost.

For the hydrogen fuel cell system, the hydrogen tank cost
of $500 per kg of hydrogen is assumed. If we look at the
results of the in Figure 9b we can see that, for refueling
ratios of 0.1 to 0.8, at 100 hours of power outage, the
number of hydrogen tanks is in the range of 2 to 4. For
the same scenario without considering the refueling, the
results are 2 tanks for 90% coverage and 3 tanks for 99%
coverage as reported in Table 2. For longer power outages
of up to 500 hours per year, the number of hydrogen tanks
goes up to 11 for R, of 0.8 equivalent to $400 of refueling
cost.

This analysis revealed that the optimal size of fuel
storage varies significantly depending on the specific con-
text, including the refueling costs and outage duration.

157159



IEEE Access

A. Abdolmohammadi et al.: Sizing and LCA of Small-Scale Power Backup Solutions: A Statistical Approach

For instance, in the case of gasoline generator systems,
the recommended tank size ranges from 10 to 50 gallons,
highlighting the importance of considering accurate cost
and power outage duration. Similarly, for hydrogen fuel
cell systems, the number of required tanks can range
from 2 to 11, demonstrating the wide range of cost outcomes.
Ultimately, the decision making process regarding fuel
storage size must account for a multitude of factors, including
system requirements, cost considerations, and operational
constraints.

D. SENSITIVITY ANALYSIS RESULTS

In this section, we present a cost sensitivity analysis to
understand the impact of varying component costs on our
results, accounting for price differences among suppliers,
locations, and potential future cost changes. Component costs
were varied within a range from 50% to 200% of their
base values, as listed in Table 3, with increments adjusted
in steps of 10%. The optimization algorithm was rerun for
each cost set to assess if changes affected optimal system
sizing. Results were compiled into a box plot to visualize the
impact of cost fluctuations on system desirability, helping to
determine if cost changes favored one system over another.

Figure 10 presents the associated variation in the lifetime
cost of the studied systems in a box plot. The green line
shows the base cost. The cost of the gasoline generator
remained stable with a minimum of $7,200 and maximum of
$9.400. In contrast, the battery system demonstrated, a high
cost variation with minimum of $13,500 to a maximum of
$37,200 and median of $23,000, which points out that the
main cost of this system is the battery cell cost. Fuel cell,
having a middle going trend, with minimum of $12,500 up
to maximum of $20000 has some cost overlap with battery
system. The PV-battery system with a minimum of $3,500
have the lowest total cost among the backup options and
with maximum of $9,500, it has an overlap with gasoline
generator. The PV-battery system with a median of $6,000,
comparing to gasoline generator with median of $8,300 came
out as an overall better option.

Overall, the battery system showed the greatest variation in
total cost. This result was mainly driven by the cost of battery
cells. The fuel cell system displayed moderate cost variability
with its costs partially aligning with those of the battery
system. The PV-battery system had the lowest cost across
the systems with some overlap with the gasoline generator.
The gasoline generators maintained the narrowest cost range,
which is attributed to their lower generator and fuel costs.

V. CONCLUSION

In this study, we conducted a thorough comparative analysis
of four distinct small-scale power backup systems designed
for critical but low-demand applications such as traffic
lights on evacuation routes. The considered options include
gasoline generator, battery pack, PV-battery system, and fuel
cell. We evaluated these options based on cost-effectiveness

157160

and environmental impact over a 10-year operational period.
Our findings are summarized as follows:

o PV-battery systems are the most environmentally and
economically sustainable choice, particularly in areas
with high solar irradiance. Their ability to generate elec-
tricity and potentially contribute to the grid significantly
lowers both their environmental footprint and lifetime
costs. Nevertheless, their performance can be severely
affected by shading, leading to higher lifetime costs
under significant shading conditions.

o Gasoline generators remain a competitive option
due to their low upfront costs and minimal operational
emissions for power backup purposes where the system
is mostly on standby during its lifetime.

o Battery backup systems were found to be efficient
for short-duration power outages compared to fuel
cells and gasoline generators. However, our analysis
revealed that these systems will become expensive and
less eco-friendly when scaled up for longer outages
due to the expensive battery cells and the associated
greenhouse gas emissions during the manufacturing
phase.

o Our investigation showed that fuel cell power backup
systems offer a cost-effective solution for extended
outages compared to battery-only setups. Nonetheless,
the environmental impacts and financial costs of man-
ufacturing hydrogen tanks and fuel cell engines make
them less appealing and more costly than gasoline
generators when a large number of tanks are installed.

There are several research directions for future explo-
ration. Accounting for other environmental factors, such
as temperature and smoke, are valuable areas for future
study. The performance of batteries, PV panels, and fuels
cells are all impacted by temperature due to the required
cooling/heating for the unit and the overall influence of the
temperature on the system performance; for example, the
available capacity of battery systems can be significantly
reduced in subzero temperatures. Furthermore, the effect of
smoke caused by wildfires can substantially reduce energy
generation in PV panels and therefore impact the optimal
size and cost effectiveness of the systems. Research should
also explore the future trends of cost for fuel cells engines,
PV panels, batteries, and the availability of hydrogen fuel and
the significance of these changes in the optimal power backup
option for the considered small scale systems. A possible
future direction is utilizing extensive historical data on power
outages can pave the way for developing predictive models
using machine learning approaches. These models could
effectively capture annual trends as well as seasonal and
monthly variations.

Additionally, there is significant potential for further
exploration in environmental impact assessments. Future
studies can have broader range of environmental impacts,
including resource depletion, water usage, and ecological

VOLUME 12, 2024



A. Abdolmohammadi et al.: Sizing and LCA of Small-Scale Power Backup Solutions: A Statistical Approach

IEEE Access

toxicity, to provide a more in dept assessment of different
backup solutions. Moreover, examining emissions in greater
detail and including end-of-life considerations could be
pursued in the future. Conducting size optimization algorithm
with primary focus on the environmental impacts is also
worth investigating.

APPENDIX

ACKNOWLEDGMENT

The authors acknowledge the use of Artificial Intelligence
(AI), specifically ChatGPT by OpenAl [46], for enhancing
the clarity and flow of their manuscript. They utilized
ChatGPT to review their text for grammar accuracy, clarity,
and coherence. It is important to note that all results, figures,
and graphs presented in this work were produced without Al
assistance.

TABLE 3. The table of all the costs used in the optimization algorithms. The costs are all extracted and averaged from the market of (or to be delivered

to) Northern California in 2023.

Components Symbol  Functional = Cost Unit Production/Use Weight Transport Note
Unit phase GWP [kg [Kg/unit] GWP [kg
Co2eq]' Co2eq]?
Gasoline Generator System
Gasoline Generator Coo 1 kWp 1000 $/Unit 4.10E+02 15 6.95E-01 Assumed same as a
Diesel Generator
Fuel : Gasoline Cr 1 Gallon 4.7 $/Gallon  2.02E+00 3.78 1.75E-01 refilling equal to 100
hours of power outage
required
Cabinet Ceq 1 Cabinet 800 $/Unit 5.04E+03 450 2.09E+01 450 kg Aluminium
Cabinet
Fuel Tank Cr 1 Gallon 20 $/Gallon  9.01E+00 1.25 9.58E-02 Linearized over 20
Tank Gallon Gas Tank, 25
kg
Maintenance Coam - 300 $/year - - -
Installation Cy - 1000 $ - - - Per setup
Refueling C, - 50-200 $/refueling - - -
event
Battery
Battery Cp 1 kWhCa- 450 $/ Unit 5.08E+01 6.67 3.09E-01
pacity
Inverter Ceq 1 kWp 100 $/Unit 9.30E+01 18.5 8.57E-01 part of equipment cost
Cabinet Ceq 1 Cabinet, 800 $/Unit 5.04E+03 450 9.27E+00 part of equipment cost
200 kg
Equipments  (Charger, Ceq - 350 $/Unit 1.81E+01 0.5 2.32E-02 1/2 kg of electronics
Cables, etc)
Maintenance CogeMm - 250 $/year - - -
Installation-Comission Cr - 1000 $ - - - Per setup
Photovoltaic Panel
PV Panel Cov 1m? 200 $/Unit 2.64E+02 12 1.20E+01
Mounting Ceq 1m? 40 $/Unit 4.01E+01 18.5 1.85E+01  per 1 m? of Panel
Equipments (Charge  Cy - 300 $ 1.81E+01 0.5 2.32E-01
Controller, Cables ,etc)
Maintenance Cogm - 50 $/year- - - - per 1 m? of Panel
panel
Installation-Comission Cr - 2000 $ 4.97E+02 - - Per setup
Hydrogen Fuel cell
Hydrogen PEM Crc 1kWp 8200 $/Unit 1.02E+02 10 4.64E-01
Hydrogen Tank Cr 1 Tank 500 $/Unit 3.49E+02 80 3.71E+00 1 Tank: 60L, 300 bar,
1kg H2
Fuel: Hydrogen CHa2 1 kg 16 $/kg H2 2.69E+00 1 4.64E-02
Cabinet Ceq 1 Cabinet, 800 $/Unit 5.04E+03 450 2.09E+01
450 kg
Equipments  (Pressure  Ceq - 350 $ 1.81E+01 0.5 2.32E-01 1/2 kg electronics
regulator, Pipes, etc)
Maintenance Coeum - 500 $/year - - -
Installation-Comission Cy - 3800 $ - - - Per setup
Refueling C, - 200-500  $/refueling - - -
event

The GWP corresponding cradle to gate

2Transportation of 500km is considered and the corresponding weight of each component

VOLUME 12, 2024

157161



IEEE Access

A. Abdolmohammadi et al.: Sizing and LCA of Small-Scale Power Backup Solutions: A Statistical Approach

TABLE 4. Life Cycle Inventory from Ecoinvent 3.6 [42].

Inventory Notes Region Method TRACI 2.1  Unit
uso / GWP
agg
Flow Proxy Dataset in Ecoinvent 3.6
Diesel Generator  Diesel-electric generating set, 18.5  Unit Size: 1 kWp Diesel Generator GLO agg 4.10E+02 kg Co2 eq
[p] kW {GLO} | market for | Alloc Rec,
S
Assumed same as Diesel generator
Lifetime: 10 years
Replacements : None
Gasoline produc-  Gasoline mix at filling station Unit : 1 kg of Gasoline Mix [SN] agg 5.71E-01 kg Co2 eq
tion [kg]
Diesel Fuel Diesel, burned in Diesel-electric ~ Unit: 1 kg Diesel Mix GLO u-so 9.69E+00 kg Co2 eq
Burned [MJ] generating set, 18.5 kW {GLO} |
market for | Alloc Rec, S
Assumed same as Gasoline Mix
Steel - Gasoline  Steel, chromium steel 18/8 {GLO}  Unit : 1 Gallon Gasoline Tank GLO agg 9.01E+00 kg Co2 eq
Tank [kg] | market for | Alloc Rec, S
Mass : 31 kg / 15 Gallon Tank
Photovoltaic Photovoltaic panel, single-Si wafer ~ Unit : 1m? PV Panel GLO agg 2.64E+02 kg Co2 eq
Panel [m?] {GLO} | market for IAlloc Rec, S
Lifetime: 10 years
Replacement : None
Photovoltaic market for photovoltaic flat-roof in- ~ Unit : 1m? PV Panel GLO agg 7.46E+03 kg Co2 eq
plant [kWp] stallation, 3kWp, single-Si, panel,
mounted, on roof
Installation of Photovoltaic Panels
in a plant
Photovoltaic market for photovoltaic mounting  Unit : 1m? PV Panel GLO agg 4.01E+01 kg Co2 eq
Mounting System  system, for slanted-roof installation
[m?]
Battery [kg] Battery, Li-ion, rechargeable, pris-  Unit: 1kWh Battery Capacity GLO agg 5.08E+01 kg Co2 eq
matic {GLO} | market for | Alloc
Rec, S
Life time: 10 years
Replacement : 1/2 of Cells over life-
time
Inverter[p] market for inverter, 0.5kW Unit : 0.5kW Inverter GLO agg 4.65E+01 kg Co2 eq
Electronic Com-  market for electronics, for control ~ Unit : 1 kg of Electronics GLO agg 3.61E+01 kg Co2 eq
ponents[kg] units
Electricity [kWh]  Electricity grid mix - CAMX, con-  Unit: 1 kWh usS agg 3.65E-01 kg Co2 eq
sumption mix, to consumer, <1kV
Fuel cell [kWp] Fuel cell, stack polymer electrolyte ~ Unit Size: 1 kWp PEM GLO agg 1.02E+02 kg Co2 eq
membrane, 2 kW electrical, future
{GLO}I market for | Cut-off, S
Lifetime : 10 years
replacements: None
Hydrogen [kg] Hydrogen at refinery Unit : 1kg of H2 us agg 2.69E+00 kg Co2 eq
Compressor market for air compressor, screw-  Unit: 4 kW compressor GLO agg 7.06E+02 kg Co2 eq
type compressor, 4kW
Steel - H2 storage ~ Steel, chromium steel 18/8 {GLO}j  Unit : 1 Tank 1kg H2 Capacity GLO agg 3.48E+02 kg Co2 eq
[ke] market for j Alloc Rec, S
Mass : 80 kg / Cylinder
Aluminium-Out-  Aluminium frame profile, powder  Unit: 1 Cabinet 450 kg GLO agg 3.48E+02 kg Co2 eq
door Cabinet [kg]  coated (EN15804 A1-A3)
Mass : 200-450 kg (Empty Cabinet)
/ Cabinet
Transportation Transport, combination truck, aver-  Unit : Tonne-km usS agg 9.27E-02 kg Co2 eq

age fuel mix

157162

VOLUME 12, 2024



A. Abdolmohammadi et al.: Sizing and LCA of Small-Scale Power Backup Solutions: A Statistical Approach

IEEE Access

REFERENCES

[1]

[2]

[3]

[4]

[5]

[6]

[71

[8]

[9]

[10]

[11]

[12]

[13]

[14]

[15]

[16]

A. Kwasinski, “Analysis of vulnerabilities of telecommunication systems
to natural disasters,” in Proc. IEEE Int. Syst. Conf., Apr. 2010,
pp. 359-364.

M. Zhao, A. Sharma, E. Smaglik, and T. Overman, “Traffic signal
battery backup systems: Use of event-based traffic controller logs in
performance-based investment programming,” Transp. Res. Rec., J.
Transp. Res. Board, vol. 2488, no. 1, pp. 53-61, Jan. 2015, doi: 10.3141/
2488-06.

P. Paniyil, V. Powar, R. Singh, B. Hennigan, P. Lule, M. Allison, J. Kimsey,
A. Carambia, D. Patel, D. Carrillo, Z. Shriber, T. Bazer, J. Farnum,
K. Jadhav, and D. Pumputis, “Photovoltaics- and battery-based power
network as sustainable source of electric power,” Energies, vol. 13, no. 19,
p. 5048, Sep. 2020. [Online]. Available: https://www.mdpi.com/1996-
1073/13/19/5048

B. Zhao, X. Zhang, P. Li, K. Wang, M. Xue, and C. Wang,
“Optimal sizing, operating strategy and operational experience of a
stand-alone microgrid on dongfushan island,” Appl. Energy, vol. 113,
pp. 1656-1666, Jan. 2014. [Online]. Available: https://www.sciencedirect.
com/science/article/pii/S0306261913007629

J. P. Fossati, A. Galarza, A. Martin-Villate, and L. Fontdn, “A method
for optimal sizing energy storage systems for microgrids,” Renew.
Energy, vol. 77, pp.539-549, May 2015. [Online]. Available:
https://www.sciencedirect.com/science/article/pii/S0960148114008660
A. L. Bukar, C. W. Tan, and K. Y. Lau, “Optimal sizing of an
autonomous  photovoltaic/wind/battery/diesel ~ generator  microgrid
using grasshopper optimization algorithm,” Sol. Energy, vol. 188,
pp. 685-696, Aug. 2019. [Online]. Available: https://www.
sciencedirect.com/science/article/pii/S0038092X19306243

A. M. Ferrario, A. Bartolini, F. S. Manzano, F. J. Vivas, G. Comodi,
S.J. McPhail, and J. M. Andujar, “A model-based parametric and
optimal sizing of a battery/hydrogen storage of a real hybrid micro-
grid supplying a residential load: Towards island operation,” Adv.
Appl. Energy, vol. 3, Aug. 2021, Art. no. 100048. [Online]. Available:
https://www.sciencedirect.com/science/article/pii/S2666792421000408

S. X. Chen, H. B. Gooi, and M. Q. Wang, “Sizing of energy storage
for microgrids,” IEEE Trans. Smart Grid, vol. 3, no. 1, pp. 142-151,
Mar. 2012.

W. Zhou, C. Lou, Z. Li, L. Lu, and H. Yang, “Current sta-
tus of research on optimum sizing of stand-alone hybrid solar—
wind power generation systems,” Appl. Energy, vol. 87, no. 2,
pp. 380-389, Feb. 2010. [Online]. Available: https://www.sciencedirect.
com/science/article/pii/S0306261909003328

Y. Zhang, A. Lundblad, P. E. Campana, F. Benavente, and J. Yan,
“Battery sizing and rule-based operation of grid-connected photovoltaic-
battery system: A case study in Sweden,” Energy Convers.
Manage., vol. 133, pp.249-263, Feb. 2017. [Online]. Available:
https://www.sciencedirect.com/science/article/pii/S019689041631069X
R. Ayop, N. M. Isa, and C. W. Tan, “Components sizing of
photovoltaic stand-alone system based on loss of power supply
probability,” Renew. Sustain. Energy Rev., vol. 81, pp.2731-2743,
Jan. 2018. [Online]. Available: https://www.sciencedirect.
com/science/article/pii/S1364032117310201

M. J. Vasallo, J. M. Andujar, C. Garcia, and J. J. Brey, “A methodology
for sizing backup fuel-cell/battery hybrid power systems,” IEEE Trans.
Ind. Electron., vol. 57, no. 6, pp. 1964-1975, Jun. 2010.

R. Rodriguez, G. Osma, D. Bouquain, J. Solano, G. Ordoiiez, R. Roche,
D. Paire, and D. Hissel, “Sizing of a fuel cell-battery backup system
for a university building based on the probability of the power outages
length,” Energy Rep., vol. 8, pp. 708-722, Nov. 2022. [Online]. Available:
https://www.sciencedirect.com/science/article/pii/S2352484722013774
J.Dong, L. Zhu, Y. Su, Y. Ma, Y. Liu, F. Wang, L. M. Tolbert, J. Glass, and
L. Bruce, “Battery and backup generator sizing for a resilient microgrid
under stochastic extreme events,” IET Gener., Transmiss. Distrib., vol. 12,
no. 20, pp. 4443-4450, Nov. 2018.

Y. Yoo, G. Jang, and S. Jung, “A study on sizing of substation
for PV with optimized operation of BESS,” IEEE Access, vol. 8,
pp. 214577-214585, 2020.

C. Smith, J. Burrows, E. Scheier, A. Young, J. Smith, T. Young,
and S. H. Gheewala, “Comparative life cycle assessment of a
Thai Island’s diesel/PV/wind hybrid microgrid,” Renew. Energy,
vol. 80, pp.85-100, Aug. 2015. [Online]. Available: https://www.
sciencedirect.com/science/article/pii/S0960148115000105

VOLUME 12, 2024

(17]

(18]

(19]

(20]

[21]

[22]

(23]

(24]

(25]

[26]

(27]

(28]

[29]

(30]

(31]

(32]

[33]

(34]

(35]

M. A. P.Mahmud, N. Huda, S. H. Farjana, and C. Lang, ““Techno-economic
operation and environmental life-cycle assessment of a solar PV-driven
islanded microgrid,” IEEE Access, vol. 7, pp. 111828-111839, 2019.

I. K. Bhat and R. Prakash, “LCA of renewable energy for electricity
generation systems—A  review,” Renew. Sustain. Energy Rev.,
vol. 13, no. 5, pp.1067-1073, Jun. 2009. [Online]. Available:
https://www.sciencedirect.com/science/article/pii/S1364032108001093
C.-T. Tsai, T. M. Beza, E. M. Molla, and C.-C. Kuo, “Analysis and sizing
of mini-grid hybrid renewable energy system for islands,” IEEE Access,
vol. 8, pp. 70013-70029, 2020.

I. Jiménez-Vargas, J. M. Rey, and G. Osma-Pinto, *“Sizing of hybrid
microgrids considering life cycle assessment,” Renew. Energy, vol. 202,
pp. 554-565, Jan. 2023. [Online]. Available: https://www.sciencedirect.
com/science/article/pii/S0960148122017438

PSE Healthy Energy. (2023). Preventing Wildfires With Power Outages:
The Growing Impacts of California’s Public Safety Power Shutoffs.
[Online].  Available:  https://www.psehealthyenergy.org/preventing-
wildfires-with-power-outages-the-growing-impacts-of-californias-public-
safety-power-shutoffs/

California Air Resources Board. (2023). Use of Back-Up Engines for
Electricity Generation During Public Safety Power Shutoff Events |
California Air Resources Board. [Online]. Available: https://ww2.arb.
ca.gov/resources/documents/use-back-engines-electricity-generation-
during-public-safety-power-shutoff

J. W. Mitchell, “Power line failures and catastrophic wildfires
under extreme weather conditions,” Eng. Failure Anal., vol. 35,
pp. 726-735, Dec. 2013. [Online]. Available: https://www.sciencedirect.
com/science/article/pii/S1350630713002343

Silicon Valley Clean Energy. (2022). Backup Batteries at Traffic Lights
Increase Safety and Energy Resilience in Saratoga. [Online]. Available:
https://svcleanenergy.org/news/backup-batteries-at-traffic-lights-increase-
safety-and-energy-resilience-in-saratoga/

California Legislative Information. (2021). AB-1346 Air Pollution:
Small Off-Road Engines. [Online]. Available: https://leginfo.legislature.
ca.gov/faces/billNavClient.xhtml?bill_id=202120220AB1346

Western  Systems. (2022). Western Systems Facilitates Green
Backup Power for a Critical Intersection During Rolling Blackouts.
Accessed:  Sep. 29, 2023. [Online]. Available: https://www.
westernsystems-Inc.com/news/western-systems-facilitates-green-backup-
power-for-a-critical-intersection-during-rolling-blackouts/

Western Systems. (2022). Santa Clarita, Installs Eco-Friendly
Long-Lasting Backup Power Unit at a Critical Intersection.
Accessed:  Sep. 29, 2023. [Online]. Available: https://www.
westernsystems-Inc.com/news/santa-clarita-ca-installs-eco-friendly-
long-lasting-backup-power-unit-at-a-critical-intersection/

S. Rehman, “Hybrid power systems—Sizes, efficiencies, and economics,”
Energy Explor. Exploitation, vol. 39, no. 1, pp. 3-43, Jan. 2021, doi:
10.1177/0144598720965022.

Z. Ma, J. Eichman, and J. Kurtz, “Fuel cell backup power system for
grid service and microgrid in telecommunication applications,” J. Energy
Resource Technol., vol. 141, no. 6, Jun. 2019, Art. no. 062002, doi:
10.1115/1.4042402.

C. W. Tan, T. C. Green, and C. A. Hernandez-Aramburo,
“A stochastic method for battery sizing with uninterruptible-power
and demand shift capabilities in PV (photovoltaic) systems,” Energy,
vol. 35, no. 12, pp.5082-5092, Dec. 2010. [Online]. Available:
https://www.sciencedirect.com/science/article/pii/S0360544210004342
California Public Utilities Commission. (2021). Net Energy Metering 2.0
Evaluation. [Online]. Available: https://www.cpuc.ca.gov/nem2evaluation
PG&E. (2023). Net Surplus Compensation. [Online]. Available:
https://www.pge.com/en/clean-energy/solar/solar-incentives-and-
programs/net-surplus-compensation.html

M. Sengupta, Y. Xie, A. Lopez, A. Habte, G. Maclaurin, and J. Shelby,
“The national solar radiation data base (NSRDB),” Renew. Sustain.
Energy Rev., vol. 89, pp.51-60, Jun. 2018. [Online]. Available:
https://www.sciencedirect.com/science/article/pii/S136403211830087X
T. R. Tooke, N. C. Coops, J. A. Voogt, and M. J. Meitner, “Tree struc-
ture influences on rooftop-received solar radiation,” Landscape Urban
Planning, vol. 102, no. 2, pp. 73-81, Aug. 2011. [Online]. Available:
https://www.sciencedirect.com/science/article/pii/S0169204611001526
A.J. Ali, L. Zhao, and M. H. Kapourchali, ‘“Data-driven-based analysis and
modeling for the impact of wildfire smoke on PV systems,” IEEE Trans.
Ind. Appl., vol. 60, no. 2, pp. 2076-2084, Apr. 2023.

157163


http://dx.doi.org/10.3141/2488-06
http://dx.doi.org/10.3141/2488-06
http://dx.doi.org/10.1177/0144598720965022
http://dx.doi.org/10.1115/1.4042402

IEEE Access

A. Abdolmohammadi et al.: Sizing and LCA of Small-Scale Power Backup Solutions: A Statistical Approach

[36]

[37]

[38]
[39]

[40]

[41]

[42]

[43]

[44]

[45]

[46]

A. Gallo, “A refresher on net present value,” Harvard Bus. Rev., vol. 19,
pp. 1-6, Nov. 2014.

A. Q. Jakhrani, A. R. H. Rigit, A.-K. Othman, S. R. Samo, and
S. A. Kamboh, “Life cycle cost analysis of a standalone PV system,” in
Proc. Int. Conf. Green Ubiquitous Technol., Jul. 2012, pp. 82-85.
Bloomenergy. (2021). California Power Outage Map. [Online]. Available:
https://www.bloomenergy.com/bloom-energy-outage-map/

PG&E, 2021 Annual Electric Reliability Report, Pacific Gas and Electric
Company, Oakland, CA, USA, 2022.

International Organization for Standardization, Environmental Manage-
ment: Life Cycle Assessment; Principles and Framework, ISO, Geneva,
Switzerland, 2006.

J. Bare, “TRACI 2.0: the tool for the reduction and assessment of chemical
and other environmental impacts 2.0.,” Clean Techn. Environ. Policy,
vol. 13, pp. 687-696, 2011, doi: 10.1007/s10098-010-0338-9.

G. Wernet, C. Bauer, B. Steubing, J. Reinhard, E. Moreno-Ruiz, and
B. Weidema, ““The ecoinvent database version 3 (part I): Overview and
methodology,” Int. J. Life Cycle Assessment, vol. 21, no. 9, pp. 1218-1230,
Sep. 2016.

R. Rodriguez, G. Osma, D. Bouquain, J. Solano, G. Ordoiiez, R. Roche,
D. Paire, and D. Hissel, “Sizing of a fuel cell-battery backup system
for a university building based on the probability of the power outages
length,” Energy Rep., vol. 8, pp. 708-722, Nov. 2022. [Online]. Available:
https://www.sciencedirect.com/science/article/pii/S2352484722013774

F. Wang, X. Fan, F. Wang, and J. Liu, “Backup battery analysis and
allocation against power outage for cellular base stations,” IEEE Trans.
Mobile Comput., vol. 18, no. 3, pp. 520-533, Mar. 2019.

M. T. Zun and B. C. McLellan, ““Cost projection of global green hydrogen
production scenarios,” Hydrogen, vol. 4, no. 4, pp. 932-960, Nov. 2023.
[Online]. Available: https://www.mdpi.com/2673-4141/4/4/55

OpenAl. (2023). Chatgpt 4.0. Large Language Model. [Online]. Available:
https://chat.openai.com/chat

ARMIN ABDOLMOHAMMADI received the
Bachelor of Science degree in mechanical engi-
neering from the Sharif University of Technology,
Tehran, Iran, in 2019. He is currently pursuing
the Ph.D. degree in mechanical and aerospace
engineering with the University of California at
Davis, Davis. His research interests include system
dynamics, controls, and robotics, with a particular
emphasis on optimal control in automotive appli-
cations. He has been involved in research at the

UC Davis Control, Optimization, Robotics, and Electrification Laboratory
(CORE Lab), since 2023.

157164

-l

ALIREZA NEMATI received the B.Sc. degree in
mechanical engineering from Shiraz University,
in 2008, and the M.Sc. and Ph.D. degrees in
mechanical engineering, in 2010 and 2017, respec-
tively. He was a Postdoctoral Researcher with
Qingdao University, for two years, and became
an Assistant Professor with Qingdao University,
in December 2020. Since September 2022, he has
been a Research Scientist with the University of
California at Davis, Davis. His research interests

include control, optimization, and robotics at various scales, including the
development of traditional robots and control algorithms as well as the study
and evaluation of nanorobots.

MERIDIAN HAAS received the B.S. degree in
mechanical engineering from the University of
Idaho, in 2021. She is currently pursuing the Ph.D.
degree with the University of California at Davis,
Davis. She is also with the CORE Laboratory.
She is specifically focused on sustainable engi-
neering design and analysis. Her research interests
include electrification technology, optimization,
and control design, particularly for electric off-
road vehicles.

SHIMA NAZARI (Member, IEEE) received the
B.S. and M.S. degrees from the Sharif University
of Technology, Tehran, Iran, in 2009 and 2012,
respectively, and the Ph.D. degree in mechanical
engineering from the University of Michigan,
in 2019. She is currently an Assistant Professor
of mechanical engineering with the University of
California at Davis, Davis. Prior to this position,
she was a Postdoctoral Researcher with the Model
Predictive Control Laboratory, UC Berkeley. Her

research interests include optimal and data-driven control with applications
for automation, electric vehicles, and transportation systems.

VOLUME 12, 2024


http://dx.doi.org/10.1007/s10098-010-0338-9

